NCF, March 9™

Slides from first half of today's lecture

These slides were requested and are put out as-are (I know the file becomes biggg).
A few notes to those who did not attend:

* These slides cover only (slightly less than) the first 45 min. My usual mode is chalk
and board, but for this more explanatory part I found slides more appropriate.

* The full information case is not part of the model, only presented for reference. At
the end of last slide, we arrive at the question why the principal cannot just propose
the menu of {a,, a;} (the answer is that both types would choose the latter), and then
the chalk+board part starts.

(Oh, and a detail forgotten: quantities and prices are always assumed nonnegative.)

* Iguessitisless likely that I'll use slides when we continue doing calculations — my
attitude is that calculations should not be presented quicker than can be written — so
don't expect more slides posted. (That's not definite, more files might show up.)

— Nils
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